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1. Specification Review — Unselved-Solved
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1. Specification Review - Additional(Stage 2050, 2060)
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1. Specification Review Specification Review Feedback
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2. System Testing / Category-Partition Testing

# Month Hour | Minute| Second | SchedNum Key Test Result | StopwatchMode | & | na | nia | o | o | o | o n/a n/a (Key = 7.1.00000.000) Paws  121| ScheduleMode |longh | nja | mia | nja | nja | nfa | wa n/a n/a {Key = 14500000000 Pass
1 Ti ping A 2020 | nia nfa | nfa nia na nia nfa =single> (fallows [if]) Pass 62 | SwgwachMode B nfa nfa na | nfa i nfa na na Pase 122 ScheduleMede | LongB | nfa i nfa | nfa nfa nia i na ey = 1460.0000000) | Pass
2 " A [ na | 6 [ nia|oal na [ na nfa nia <single>_(follows {iff) Pass 63 | StopwatchMode | C na | nfa | mia | nia | nia | nja nja nja Pass _ 123| ScheduleMode |LlongC [ nfa | nfa | nfa | nfa | nia | nfa n/a n/a (Key = 147.00000000) |  Pass
3 " A [ nfa | nfa [ 15 [ e [ nia [ nfa nia <single>_(follows {iff) Pas 64 | StopwachMode | D | na [ nfa | nfa | na [ nia | n/a /a Pass  124| ScheduleMode |longD | nfa | nfa | nfa | nfa | nfa | nfa n/a na (Key = 14800000000) |  Fass
4 " A [ na | na [ na | 12 [ na [ na na nia <single> _(follows {iff) Pass 65 | Stop longh | nia | n/a | na | na | na | mia na na (Key = 7.5 1 Pass___ 125 A na | 12 | 31 | 23 8 | nia n/a nia Key = 151.02222000) | Pass
5 " A n/a nfa na | nia £ na na nfa <single> (follows [if]) Pass [ P t le | LongB | nfa nfa nfa nfa nja nfa nfa nfa (Key = 7600000000} Pass 126 | AddSchedule B nfa 12 Eil 23 E n/a nja n/a (Key = 1520, oo Pass
3 Timner [ nia n/a na | nja nia an nia n/a <singles (follows [if) Pass 67 | SwpwatchMode | LongC | nfa nia nfa | nfa na na na na (Key = 7.7.0.0.0000.0.0) Pass 127  AddSchedule < nia 1 [] nia i na ey = 1530, Pass
7 nia A | na | na | na | na| na | wa 0 nia <single> (follows (i) | Pass 68 | StopwatchMode | LongD | n/a | n/a | n/a | na | nja | na nfa nfa Pass  128| Addscheddle | D | nja | 1 nfa nja nfa__ | Key = 15402 Pass
[ n/a na | nia | na | nia | na | na | wia 1 n/a <single>_(follows (i) Pass 69 | StanStopwatch | A | n/a | n/a | na | nja | nja | wa n/a n/a Pase 129 AddSchedule | Longh | n/a | 1 n/a nfa na_ | (Key = 155 Pass
9 na na | nia | n/a | n/a | nva | na | mia 100 s <emor>_(follows [If]) Pass 70 p B | mwa | na | o | na | na | na nfa nfa Pass 130 Longh | nia | 1 nia nia nfa | ey =1 Pass
10 nfa na | nia | nia | nia | na | nia na nia L] <single> _(fellows i) Pass 71 | StartStopwatch ¢ wa | nfa | nfa | nfa | nfa nfa nfa nfa Pass 131 | AddSchedule | LongC | nfa 1 [ 0 nfa i nfa {Key = 15.7.0. Pass
1 nva Wa | wa | nfa | nva | s | na | nfa na 2 <single> (follows i) | Fasc 72| SunSwpwach | O | na | na | wa | na | na | wa nfa nfa Fas 132 AddSchedule | longD | n/a 5 | na nfa na__| (Key = 1540, Pass
12 nfa na {nia} nfa | nfa f n/a f onfa | ma a L. 25 73 | StatStopwatch | LongA | n/a | nfa | mja | nfa | nfa | nfa n/a n/a Fass 133 | Modifyschedule | A | nja 59 | nfa nfa nfa_ | (Key=1 Pass
(13| Timekeeping | 4 f nfa | nfa | nfa | s | nfa | nia nfa nfa | Pass 74 | StartSwopwatch |Longd | nva | nja | ma | na | na | wa nfa n/a Pasc 134 | ModifySchedule | B | nia W | na na na | ey = Pass
14 TimeKeeping | B | nfa | nia | n/a | nja | n/a | nfa na n/a | P 775 P longC | na | nia | mia | na | na | nia n/a n/a |_Pass C |nmal| 1 0 | na n/a wa | KRey=1 Pass
15 | TimeKeeping < nfa | nfa | nfa | nfa | n/a n/a a n/a | Fa55 76 | StartStopwatch |longD | e [ nfa | nfa | nia | nja nfa nfa nfa Pass ModifySchedub D nfa 1 Ell 59 n/a nfa nfa Key =1 Pass
%%@E D_| na | wa | nfa | nfa | nfa ] nia a n/a | Fass 77 [PauseSwopwarch | A | wa | nfa | na [ o/ | o [ wa nfa nfa Pass 137 ModifySchedule | Longh | n/a | 12 | 31 5 | na n/a na_ | (Rey=1 Pass
17 | TimeKeeping | longh | nfa | nfa | n/a | nfa | n/a | nfa a n/a | P 778 | PauseStopwatch | & | na | na | na | na | na | na nfa nfa Pass 138 | ModifySchedule | LongB | n/a | 12 | 23 55| na nja na__| (Key = 1660 Pass
3| Tmekeeping { ongf :::: $: :: x: x: ﬁ: x: $: o apao e 79 | PouseStopuatch | €| wa | wa | wa | e [Twe | e | wa | Fass 199 ModifySchedule [LongC | na | 1 | © 0 | e | ne nla__| (Key = 16702 Pass
?mﬁg—ﬁ e e e T B g e . . m—ri PauseStopwatcl O | nfa[nfa|nfa|nia| na | na na nfa | Pass ModifySchedule [ LongD | nfa | 12 | 31 | 23 58 | nfa n/a na ey = 16802 Fass
20 | TimeKeeping |longD} nfa | nfa | ¥ 1anannnnan) 1 81 | PauseStopwatch | LongA | nia | nia [ na | v [ na | nia na nia Fass 141 A na | ma [ nia | nia | nia | nia n/a n/a (Key = 17.1 Pass
21 | setCumentlime | A | 2099 | 12 EL el EL] na na 00) | Pass PansseStopwatch | LongB | n/a | nfa | nia | s | nia | na n/a n/a Pawe 142 | WorldTimeMode | B na | njfa | nfa | nfa | nfa | nfa n/a n/a (Key = 17. Pass
22 | setCumentlime | B | 2099 | 12 | 31 | 23 | 59 | 59 na nfa 00) | Pass ey | auseStopwatch | LongC | n/a | n/a | n/a | wa | na | wa nfa nfa | Pass 3 [ WorldTimeMode | €| n/a | nja | n/a | wa | na | na nfa na__ | (Rey = 17300000000} | Pass
% :E:m::: ; ;3 : | ;?3 ] x: $: Eﬂj ——:Z: 84 | PauseStopwatch | LongD | nfa | nfa | mia | nfa | n/a | n/a n/a nfa [ Pass 4 [WordTimeMede | D | nja | nia | nia | nja | nia | naa na na__| (ey= 17400000000) | Pass
B R S = na o ﬁ : o 85 | Resetsiopwatch | A | wa | wa | we | we | we | wa | wa wa | Foss 145 | WorldTimeMode | Longh | n/a | n/a | nia | nia | na | na | nie /s | (Key = 17500000000) | Pass
T——“&E 3 = e e I — 86 :ms £ g na | nfa | va | nia | nia na nfa nfa Pass 146 L Lung: na | ma | nia | nfa | nia n/a n/a nfa ey = 17. 1] Pass
—_ {87 | ReselStopwate nfa nfa nfa | nfa nfa nfa nfa nfa Pass 147 | WorldTimeMaode | Longl nja [ nfa | nfa nja nja n/a n/a (Key = 17.7.0.0000000) Pass
o el tet s o S " 786 | ResiStopwaich | D | wa | nja | wa | wa | wa | na | wa 0 Fase 148 WorldTimeMode | LongD | wa | nia | nwa | na | wa | na | ma o | (Key = 17400000000) | FPoss
351 wa T T 5 % m o | ey = 282 o 89 | ResetStopuatch | LongA | n/a | nja | nfa | wa | nfa | nfa nja nja (Key = 10500000000) | FPass  149| SelectMode A | nfa| nfa | nfa | nfa| nfa | nfa nfa (Key = 181.00000000) |  Pass
Mo ] a TT ) a a | ey = : am 90 | ResetStopwatch | Longd | nfa n'a nfa na na nfa nfa nfa (Key = 106000000003 Pass 150 |  SelectMode B nfa na nfa n'a nfa n/a na na (Key = 182000000003 Pass
E3l n/a a 0 a a ﬂ—g 3 s 91 | ResetStop longC | n/a nia na | nfa na nia n/a nia (Key = 10.7.0.0.0.0.0.000) Pase 151 B nia na | nia | nia n/a n/a na na (Key = 1 Pass
R wa | wa B na na Key = 92 | RestStopuatch [ LongD | ofa | wfa | ofa | /e | ofa | oja na na_ | (Key= Pawe 52| SelecMode | O | n/a | na | wa | wa | nja | wa nia i = Pass
7} wa | e ) a a Yy = Pate 93 | AlarmMode A wa | onfa | onfa | onfa | on/a nfa n/a n/a (Key = 11.1.0.0.00.0.000) Pase 153 | SelectMode | longh | nfa | nfa | nfa | nfa | nia n/a na na (Key = 18500000000} Pass
Y v | s % a a ey o4 | AlamMode B wa | nfa | nfa | oa | nia | na nja nja (Key = Fass _ 154| SelectMode |longB | nfa | mia | nfa | nfa | nfa | nia nfa nfa = 1860.0000000) |  FPass
5 e [ wa s T o | v | v oy P 95| MamMode | ¢ | e [ wh | e | wa | we [ we | wa e | ey T Poss 15| Selecthiode | tongC | wa | wa | wa [ wa | wa | wa | wa | wa | Gey- 187000000000 | Fa
36 | wa | na | & ] 7] wa a Key Pass % | d o na | ona | ma | onia | onia na nfa nfa [Key = Pass | 156 LongD | nfa | na | na [ nia | na n/a na na ey = Pass
13 ia TR e i e a ey st 97 I ! LongA | nfa nja nfa | nfa nfa nfa nfa nja (Key = 11500000000 Pass 157]  Beephlarm A nja nja nfa | nfa nja [ n/a n/a (Key = 19.1 Pass
T wa | wa | wa | wa | wa Wa ) ey P 98 | AlarmMode | long8 | n/fa | nfa | na | na | na nfa n/a n/a (Key = 11.60.0.00.0.000) Pase  158| Beepdlarm E nfa | nfa | nfa | nfa | nfa nfa na na ey = 19.200000000) | Paws
T e | s | e | wa | e i i ey Pame 99 | AlamMode | LlongC | nfa | nfa | nfa | nfa | nfa | nfa nja nja (Key = 11.7.00000000) | Pass  159| Beephlam [4 na | nfa | nfa | nfa | nfa | nia nfa nfa (Key = 193.00.0.00.000 Pass
an e | s | we | wa | e e i Wey o 100| AlarmMode | longD | nfa | nfa | nfa | nfa | nfa | nfa nja nja (Key = 11.800000000) | Pass  160| BeepAlam O | na| nfa | na| na| na | na nfa nfa (Key = 194.00.0.00.000 Pass
y v T ova Tova T rva [ o e s T ey Ta 01| Sethlam A | e | na | nfa| 23 | 58 | 5 na a__| (Key = 121 )| Pass  161| Beephlam |LongA| na | s | na | wa | na | wa /s /3| (Key = 195000000003 | Fass
a2 wa | na | wa | na na na na ey Fass 102 Setalarm B na | nfa | ma | 23 59 54 nfa nfa (Key = 12.2000.2.2.200) Pass 162 P longd | nfa | nia | n/a | nfa | nia n/a n/a nfa ey = 1] Pass
e na wa | na wa a wa na ey Pass 103 Setalarm 4 nfa nfa n/a [] nfa nfa [Key = 12.3.00.0. 0.0) Pass 163 Beepalarm Longt | nfa [ nfa | nfa nja nja n/a n/a {Key = 19.7.0.00 Pass
44 tartTimer | longD | n/a | n/a | nia | ma | na | s nfa nfa ey Pass  104]  SetAlam D | wa | na | nfa | 23 n/a n/a [key = L200) | Pase  164| BeepAlam | longD | n/a | nfa | n/a | nfa | nfa | n/a na N | (Key = 19800000000 | Pass
a5 | PauseTimer A | wa | wa | na | va |l na | wa wa na ey = 510.000.000.0) Pass 105  SetAlamn | LengA | nfa | nfa | ma | 23 nja nja = Fass 165 | Timer A nfa | nfa | nfa | na | nfa | nia nfa nfa (Key = 201.00.0.00.000 Pass
26 ausTimer B ma | na | nia | ma | na | na na | na | (Key- 5200000000) | Pass  196| Sethlam Longd | wa [ nfa | nfa | 23 nfa n/a = Fass 166 BeepTimer B na | na | nfa | nfa | nfa | nfa na na (Key = 20200000000 Fass
47 | PauseTimer € [ [ s [ s [ wa | na | wa nia nfa | (Key= 5300000000 | Pass 107 SetAlam | longC| nja | n/a | mia | 0 ] n/a n/a - Fass  167| BespTimer € [ ra| wa [ ma|nwa| na | nia na na | ey = Pass
a8 auseTimer [5) na | nia | nia | mva | na na na na (Key = 5400000.000) | Pae: 108 Sethlarm longD | nfa | nfa | nia | 23 59 nfa nfa = Pass 168 |  BeepTimer 3] nfa | nja | nfa | nfa | nja nifa nfa nfa ey = Pass
a9 auseTimer | LongA | nja | wa | wa | wa | wa | wa a a (Key = 5500000000) | Fase 109 M arm A na | nfa | nfa | 23 9 na na = | Pass 69 BeepTimer | longA | nfa | nfa | nfa [ nfa | nfa | nfa na na (Key = 205.00000000) [  Pass
50 auseTimer | long8 | nia | n/a | ria | nia | n/a n/a nfa nfa (Key = S600.000000) Face 110 larm B nfa | nfa | nfa 23 4 nfa nfa = | Pass 70|  BeepTimer Longd | nfa | n/a nfa_ | n/a nfa nfa nfa nfa (Key = 20600000000 Pass
51| PauseTimer |longC| n/a | n/a | nia | wa | wa n/a na n/a 700000000 Fass 11| Modifydlarm C nfa | nfa | nfa 0 nfa nfa | Pass kil BeepTimer longC | nfa | nfa | nfa | nfa | nfa n/a nfa na (Key = 20700000000} | Pass
52| PauseTimer |longD| nia | nia | wa | na | nia n/a na n/a ey = 5800000000) | Fass 112 mlarm o na | nfa | ma | 2 59 nfa nfa Pass 172|  BespTimer longD | n/a | n/a | n/a | nfa | n/a n/a n/a nfa ey = 1] Pass
53 | ResstTimer A nia nia nfa | nfa nia n/a nia nia (Key = 6100000000} |  Pase 113| Modifydlam | Longd | n/a nfa L 2 59 nfa nfa Pass 173 BeepBoth A nfa nja nfa | nfa nfa nja na n/a (Key = 21100000000, Pass
_54 | ResetTimer E nfa | nfa | nfa | nfa | nfa n/a nfa nfa (Key = 6200000000) |  Pasc ModifyAlam | Long3 | n/a | nfa | nfa 2 ] nfa nfa | Pass T4 BeepBoth E nfa_ | nfa nfa_ | nfa nfa nfa nfa nfa ey = 1.200000000) | Paws
55 | ResetTimer C | nfa| nfa | nfa|na| na | nfa na na (Key = 6300000000) |  Pasc Modifydlarm | LongC | n/a | nfa | nfa nja nja Pass _ 175|  BeepBoth C na | nfa | nfa | nfa | nfa | nia nfa nfa (Key = 21300000000) |  Pass
_56 | ResetTimer 1] nfa nfa nfa | nfa nfa nfa nfa nfa (Key = 6400000000) |  Pass ModifyAlarm | LongD | nfa nfa nfa 23 58 59 nfa nfa ) | Pass 76 Both [+] nfa nfa nfa | nfa nfa n/a nfa n/a (Key = 1400000000} |  Pass
57| ResetTimer |longA| nfa | nfa [ nfa | na | na | nfa na (Key = 6500000000} | Pass 117 A | na | na|na|na | na | na na na Pass 177 @eepBoth  [longA | nia | ma | nia | nia | nia | nia n/a n/a (Key = 215 )| Pass
58 | ResetTimer Longd | n/a nfa nfa | nfa nfa nfa nfa (Key = 6600000000} | Pass 118 | ScheduleMode B na nfa e | nfa na nfa nfa nfa Pass 178 BeepBath Longl | nfa nja nfa | nfa nja nja n/a n/a (Key = 21600000000 Pass
59 | ResetTimer |longC| n/a | nfa | nfa | nfa | nfa | nfa nfa {Key = 6700.00.00.00) Fass 119 ScheduleMode < wa | nfa | wa | nfa [ na nfa nfa nfa (Key = 14.3.00.00.0.000) Pase  179|  BeepBoth tongC | m/a | nfa | nfa | nfa | nfa nfa na na (Key = 21700000000} Pass
60 | ResstTimer | longD| nfa | nfa | nfa | nfa | nfa nfa nfa 6.8.0.0.0.0.0000) Pass 120 ScheduleMode o na [ nfa | nia | nfa | na nfa nfa nfa | (Key = 14400000000 Pass  180| BeepBoth  [longD | nfa | njia | nfa [ nfa | nja nfa nfa nfa (Key = 21.800000000) |  Pass
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2. System Testing / Pair Wise Testing 32 | selectiode Presd None Pass
1 Alarm LongPressA 23:59:59 Pass 33 Stopwatch LongPressA None Pass
2 Alarm LongPressB None Pass 34 Stopwatch LongPressB None Pass
3 Alarm LongPressC 00:00:00 Pass 35 Stopwatch LongPressC None Pass
. . 4 Alarm LongPressD 23:59:59 Pass 36 Stopwatch LongPressD None Pass
TI m e Kee p I n g 5 Alarm PressA 23:59:59 Pass 37 Stopwatch PressA None Pass
6 Alarm PressB None Pass 38 Stopwatch PressB 23:59:59 Pass
A I I Ti m e r 7 Alarm PressC 00:00:00 Pass 39 Stopwatch PressC None Pass
8 Alarm PressD 23:59:59 Pass 40 Stopwatch PressD None Pass
h 9 Beep LongPressA None Pass 41 TimeKeeping LongPressA None Pass
Sto pwatc 10 Beep LongPressB None Pass 42 TimeKeeping LongPressB None Pass
11 Beep LongPressC None Pass 43 TimeKeeping LongPressC None Pass
2 1 # AI arm 12 Beep LongPressD None Pass 44 TimeKeeping LongPressD None Pass
13 Beep PressA None Pass 45 TimeKeeping PressA 2020-12-31 23:59 Pass
S c h ed u I e 14 Beep PressB None Pass 46 TimeKeeping PressB 2020-12-31 23:59 Pass
15 Beep PressC None Pass 47 TimeKeeping PressC 1900-01-01 00:00 Pass
Sta te S WorIdTi me 16 Beep PressD None Pass 48 TimeKeeping PressD None Pass
17 Schedule LongPressA None Pass 49 Timer LongPressA 23:59:59 Pass
18 Schedule LongPressB 2020-12-31 23:59 Pass 50 Timer LongPressB 00:00:00 Pass
SelectM Od e 19 Schedule LongPressC None Pass 51 Timer LongPressC None Pass
20 Schedule LongPressD 2020-12-31 23:59 Pass 52 Timer LongPressD 23:59:59 Pass
B ee p 21 Schedule PressA None Pass 53 Timer PressA 00:00:00 Pass
22 Schedule PressB 2020-12-31 23:59 Pass 54 Timer PressB None Pass
23 Schedule PressC 1900-01-01 00:00 Pass 55 Timer PressC 23:59:59 Pass
24 Schedule PressD None Pass 56 Timer PressD 23:59:59 Pass
25 SelectMode LongPressA None Pass 57 WorldTime LongPressA None Pass
26 SelectMode LongPressB None Pass 58 WorldTime LongPressB None Pass
27 SelectMode LongPressC None Pass 59 WorldTime LongPressC None Pass
28 SelectMode LongPressD None Pass 60 WorldTime LongPressD None Pass
29 SelectMode PressA None Pass 61 WorldTime PressA None Pass
30 SelectMode PressB None Pass 62 WorldTime PressB None Pass
. . . 31 SelectMode PressC MNone Pass 63 WorldTime PressC MNone Pass
X Categorized Properties Based Input 64 | WorldTime PressD None Pass

state : TimeKeeping, Timer,Stopwatch,Alarm,Schedule, WorldTime,SelectMode,Beep
button : PressA,PressB,PressC,PressD,LongPressA LongPressB,LongPressC,LongPressD
data : Bound,None

IF [state] IN {"WorldTime","SelectMode","Beep"} THEN [data] = "None";

N

» StateS T2l Sl0] 2Way Pair Wise H-&
> 647] 5 7|= 557 Pass(85.94%) — 647} Pass(100%)
H

i 7
- F™E UE HHO R Pair Wise Testing = Zit 25 i}



2. System Testing / Brute Force Testing

Test ..
# Test Case Description
Result
2| AEZ H0|HE #2[5t=
2E E= AAFO| 171 o|Y SEE YHE iy REE AU
1 Doco Pass 01 ChA] D20 719 A|EA| DI
On/Off 0|2 ZZt HAE pil =0 e HE
EfO|T{O| A|Zt0] B2L = CQt AE &8 Al X %
5 Efo|o o Q| 2| HAE Pass fOIEH | AlZtol T C AE =8 AlE 8L =+
U
3 AAE U HAE Pass |AHZ 2|AEOAM B 20 HMI} AF2FE]
2AZEL IME HA =¥t S £ E7H5% ERi2
2Y S8 7ts
4 Invalidet &7 F7HE Al Fail |-> AAHZE 28 Al S AlZE £ Alo= oK 2] E|goLt
ME2 275 85 Al NM2|7} =X %S(ex. 6/31Y X2
U™ S8 7ls).
SR A2 HE A
5 Et 7|E ZEQ| Pass | 7}&t 717t UMo| MAEMOo=Z =8
A E £ 7|5 H2AE
6 BeepO] SH =01 AxMoz =
SO B2 HAE | = H2E A NEE
7 2 E +8/AH HAE Pass |27X Gl AMR| 7| 50| MAF &S
8 HEY L& HAE Pass | H|ZASEl U2 22X UG
9 MA AlZtHIAE Pass | & thelE gtH0| & X| 948
10 D ME HAE Pass Ol H XIQ A| ZtEXo=z Hx
otz A = = A 2 E=3H5l= X| ol Zt&S ™ o
11 ElﬁE ;"_71(_ ul E‘”ﬁE Pass =20, —9'”5 =) El—EE §_|O|-|_ = |_|I=I )\l JEﬁ—E
HM7E 3EM 7o 2 o| =&t
AHBE 4™ A CHE AHZE0| A2HX| ALt CHE EfQoz
12 AHE AH HAE Pass x?ﬂsejo | Ct HAZE0| Ar2tX|AL} THE EHY
=30 Y U
=Zol35t o™ P X | AXSH HO % A
13 AHS M HAE pass | Aot -2 270 ol =7t W =T ER 22 =8 Aol
ot BN XMEe =MOZ HEE
14 ErOrR HI~E Pass | Ef REOIM 182 Z Al Bt 7|LOZ 0|5
Ql dq = =2 k=I¥e] x7 oto _
EFO|O 3 AEFO| AAEX = CHE REZ [BSIHE &7|547t E|X] %48 ->
ol 7 S ol 2 [=] 74 &
15 QUA[HR| HAE Pass 2 HA(X7|5E|X| A=E)0f U2t EME HASI 2
oLt HMZAER|X| 23(9. Pause Timer, 12. Pause Stopwatch)
A2t B Al
16 Pass | EWME =Hot & A2 £ E7152 EME 2FHO| 7ts

BAU HAE

p 8= AR L ANX|X] 2 HI7t 17 EXY

v

> JHEE XM System Testing Cases 7|42
X1 xd E."AEIC’ A uo|. 7:|-||_

Pause T mer, Pause StopwatchOf| Ci$t
=AM 24 S LXK F Helsta

J
I
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3. Static Analysis
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3. Static Analysis - Overall

Quality Profiles / Java

Sonar way Custom

Rules

Total

¥¥ Bugs

& Vulnerabilities
& Code Smells

@ Security Hotspots

Sonar way rules not included

Exporters

FindBugs
PMD
Checkstyle

Active

373
110
19
225
19

Inactive

1.5K
434
155

361
15

31

# M-85 Static Analysis Rulesets:
SonarQube, PMD, Checkstyle

# SonarQube Default Ruleset0f A{
LHERT &3 E 5= MelAl7
Bugs #¢& 11071,

Vulnerability 1971,

Code Smells 2257|,

Security Hotspots 1971,

% 373712| Active Rules H &



3. Static Analysis - Overall

(] STAZUZU_JB I. master @ @ Lastanalysis had 2 warnings  June 12, 2020, 1:38 PM Version not provided e T‘]’PE
Overview Issues  Security Hotspots Measures Code  Activity = Project information
il
¥¥ Bug 2
QUALITY GATE STATUS MEASURES
Failed New Code Overall Code E Wlnera tllllt!'r 2
Since May 21, 2020
5 conditions failed Started 26 days ago 9 Code Smell 72
On New Code
2 ¥t Bugs Reiiabiity (@) b SE‘H’EFIW
G Reliability Rating on New Code is
worse than A “ i
Blocker 1 Minor 670
B Security Rating on New Code is worse
=¥  thanA -
2 B Vulnerabilities Security ({2 ﬂ Critical 30 ﬂ Infio 2
T Maintainability Rating on New Code is
5  worsethanA g Majﬂr 73
o Coverage on New Code is less than
0.0% 80.0%
: 0 @ Security Hotspots —  Reviewsd Security Review 0
763% Duplicated Lines on New Code is

greater than 3.0%

1 0 d Debt 7 7 2 @ Code Smells Maintainability 5]

O 0.0% - 7.6% 22

Coverage on 2 4K Lines to cover Unit Tests Duplications on 3.4K Lines Duplicated Blocks

# SeverityS 7|E0 2 2R50| 23 ZIt £MS IY
- 2t O|# S N SN £3 WS BTt Ma|d
(FA AH/Z7L, WRSICHD BEHEE 2E AL, B2 FRS o 52 24 52 o|#0N He))



3. Static Analysis - Result

1) Blocker

sro/mainfjava/model/DWS java

Add an end condition to this loop. Why is this an issue? 17daysago~ L1939 % T~
¥¥ Bug @ Blocker O Open Not assigned 15min effort W Mo fags

1 of 1 shown

# N7k EREE AL2I27F ZXSR @3, B2 Al Ul XYl B2 HES 2837 H2oj
loop?] ZE ZA2 WG| YCtD BEHSH 28 818

2) Critical

Add a default case to this switch. Why is this an issue? 14 daysago~ L409 S T~
@ Code Smell @ Critical (O Open Not assigned 5min effort % Mo tags
Add a default case to this switch. Why is this an issue? 11 daysago~ L531 9% T~
ode Sme ritical pen Mot assigned Smin o tags
Code Smell & Critical O O Mot igned 5min effort W Mota
Add a default case to this switch. Why iz this an issue? 14daysago~ L6235 % T~
@ Code Smell  Critical (O Open Mot assigned Smin effort % Mo tags

# Switch20]| Default CaseE F7}610] of2jX2| @




3. Static Analysis - Result

2) Critical
sro/mainfjavaiview/SchedulelistPanel java

Define a constant instead of duplicating this literal "SanSerif” 5 times. Why is this an issug? 15daysago~ L32 % T~
& Code Smell @ Critical (O Open Mot assigned 12min effort W% Mo tags

sro/mainfjavaiview’ScheduleSetPanel java

Define a constant instead of duplicating this literal "SanSerif” 11 times. Why is this an issue? 11daysago~ L20 % T~
& Code Smell @ Critical (O Open Mot assigned 24min effort W% Mo tags

# 0{2] H HFE E| = literal Value(Sanserif ZE)E {SX|EFH 2 A A17|7] fI6H
g2 MAASIo] AR 2

3) Major
Remove this unused method parameter "gui”. Why iz this an issue? Mdaysago~ L12 % T~
& Code Smell @ Major O Open Not assigned 5min effort W% Mo tags

# AL85X| &= parameter, local variable H|H 2%



3. Static Analysis - Result

3) Major
sroftestjava/model/AlarmModeTest java
Rename "alarmMode™ which hides the field declared at line 9. Why is this an issue? 4daysago~ L25 % T~
@ Code Smell € Major O Open Not assigned 5min effort W Mo tags
Rename "alarmMode” which hides the field declared at line 9. Why is this an issue? 4daysago~ L43 % T~
& Code Smell @ Major O Open Not assigned 5min effort W No tags

# Soi2 HHHLZR MAE HyE XY SF0 7, A6 2T

I

Return an empty array instead of null. Why is this an issue? 14daysago~ L247 % T~
@& Code Smell @ Major O Open Mot assigned 30min effort W Mo tags
Return an empty array instead of null. ‘Why is this an issue? 11daysago~ L3290 % T~
& Code Smell @ Major O Open Mot assigned 30min effort % Mo tags

# HHEHH 0| object[12] & & HASOA NULLS E2|E5HH nullityS OHH ZALSHOf a2 2
NULL CHa! &l 4N S 2|5t & 78



3. Static Analysis - Result

3) Major

sroftest/java/model™orldTimeModeTest java

The return value of "substring” must be used. Why is this an issus? 10 daysago~ L34 9 T~
¥¥ Bug @ Major O Open Mot assigned 10min effort W Mo tags

# H|AE FEO|M ALRE[X] =(Fel0jeh ZE HAH 2

4) Minor
sre/mainfava/model/DWS java
Remove this unused import "view.AlarmListPanel'. Why is this an issue? 1daysagor L3 % T~
@ Code Smell Minor ) Open Mot assigned 2min effort W Mo tags
Remove this unused import ‘java.lang.invoke.WrongMethod TypeException’. Why is this an issue? Sdaysagow L6 % T~
@ Code Smell Minor ) Open Mot assigned 2min effort W Mo tags
Remove this unused "itr" local variable. Why is this an issue? Sdaysago~ L102 % T~
@ Code Smell Minor ) Open Mot assigned 5min effort W Mo fags

# AL 5X| 2= local variable EE= import M| 2%



3. Static Analysis - Summary

=== # DWS.java SejAC
| g = jola
o OO @ ©, : ) r T = H%lot
-l Lnix| 222 S
ot
o Rank7} B A-BE &8

# Static Analysis 21} B1X2| Z 0N 7|sHQ XS of7|e = A= HA= ¢ HA2H
CHEE Al Y 2EHY, F4 X2 S8 0 ¥
rEtA FNHQl 7= EelE|7F =Chtn 2o 3.
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